
1) Convert the following improper 
fraction 23/4 + 33/4 into a mixed 
number

Answer: ____________

2) 1/4 + 6/7

Answer: ____________

3) Increase 196 by 1/98

Answer: ____________

4) 4/10 x 4/9

Answer: ____________

5) A number was shared in the ratio 4:1. 
The smaller share was 7. What was 
the larger amount?

Answer: ____________

6) Convert the following improper 
fraction 34/7 + 44/8 into a mixed 
number

Answer: ____________

7) Find the mean of the following set of data:

10, 6

Answer: ____________

8) Find the range of the following set of data:

3, 7, 10, 10, 8

Answer: ____________

9) 8/3 - 3/2

Answer: ____________

10) 4/
3 ÷ 8/8

Answer: ____________

Total: ___ / 10
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Answers:

1) 61/2 2) 13/28 3) 198 4) 8/45 5) 28 6) 81/14 7) 8

8) 7 9) 11/6 10) 11/3
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